# DETAIL QUOTATION DOCUMENT



### **CENTRAL COALFIELDS LIMITED**

(A Subsidiary of Coal India Limited)
SDOCM Project/ DHORI AREA
ADDRESS Office of the Project officer SDOCM, Dhori Area, P.O-DHORI,PIN825102,District - Bokaro

#### **QUOTATION DOCUMENT**

1	Name of the work	Urgent fencing of Tarmi coal stock with barbed wire for avoiding any mishappening and security purpose under SDOCM, Dhori Area.
2	Place of work	SDOCM Project, Dhori Area
3	NIQ No. & date	PE(Civil)/SDOCM/NIQ/23-24/53 DT 11.08.2023
4	Time of completion	20 Days
5	Earnest Money Deposit (EMD)	2500
6	Date of issue of Quotation document	12.08.2023
7	Date & Time of submission of Quotation offer	
8	Date & Time of opening of Quotation offer	17.08.2023 16:30 pm
9	Documents included	Notice Inviting Quotation (NIQ)     Bill of Quantity (BOQ)     Format of Undertaking
10	Total No. of pages	15

#### **ISSUED TO:**

NAME OF QUOTATIONE	R:
POSTAL ADDRESS :	
e-mail address	
Mobile No.	

Signature of Quotation document issuing authority (Designation and palce of posting)

## BIIL OF QUANTITY (BOQ)

NAME OF THE WORK	Urgent fencing of Tarmi coal stock with barbed wire		
	for avoiding any mishappening and security purpose		
	under SDOCM, Dhori Area.		
NIQ NO. & DATE	PE(Civil)/SDOCM/NIT/23-24/53 DT 11.08.2023		
INPUT TAX AVAILABLE / NOT AVAILABLE	INPUT TAX AVAILABL E		
RATE OF GST (in%)	18%		
STATUS OF BIDDER W.R.T. GST [PLEASE MARK (v) AS	(a) GST REGISTERED BIDDER UNDER REGULAR SCHEME		
APPLICABLE]	(b) GST REGISTERED BIDDER UNDER COMPOSITION SCHEME		
	(c) GST UNREGISTERED BIDDER		

SI. No.	Description	Qty	Unit	Rate/Unit in Rs.	Amount in Rs.
1	Earth work in excavation by mechanical means (Hydraulic Excavator)/ manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kinds of soil.	11.06	cum	216.78	2397.59
2	Providing, hoisting and fixing upto floor five level precast reinforced cement concrete work in string courses, bands, copings, bed plates, anchor blocks, plain window sills and the like including the cost of required centring, shuttering, finishing smooth sills and the like including the cost of required centring, shuttering, finishing smooth with 6 mm thick cement plaster 1:3 (1 cement: 3 fine sand) on exposed surfaces complete but excluding cost of reinforcement with 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20mm nominal size).	4.91	cum	9101.4	44687.87
3	Fencing with R.C.C. post placed at required distance, embedded in cement concrete blocks, every 15th post, last but one end post and corner post shall be strutted	2286	m	10.47	23934.42

	on both sides and end post one side only, provided with horizontal lines and two diagonals of barbed wire weighing 9.38 kg per 100 metres (minimum), between the two posts fitted and fixed with G.I. staples on wooden plugs or G.I. binding wire tied to 6 mm bar nibs fixed while casting the post (cost of R.C.C. posts, struts, earth work and concrete to be paid for separately):- Payment to be made per metre cost of total length of barbed wire used: With G.I. barbed wire				
4	Reinforcement for R.C.C. work including straightening, cutting,	319.1	kg	93.14	29725.63
	bending, placing in position and binding all complete upto plinth level. Thermo-Mechanically Treated bars	5			
5	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	9.83	cum	6423.65	63144.48
	TOTAL ESTIMATED COST IN Rs.		I	l	163889.99
	Total impact of GST for the purpose of CTC @18%				29500.20
	TOTAL ESTIMATED COST INCLUDING GST				193390.19

Note: Bidders are requested to quote their rate in figure & words both.

PE(Civil)
SDOCM Project, Dhori AREA

I AGREE TO EXECUTE THE WORK at ......%(in words .....%) ABOVE / BELOW THE ESTIMATED COST.